

Document Code				
QP-R	OV-38-0	)9		
	5.00			

Rev. No. Eff. Date Page 00 07.01.19 1 of 1

## Republic of the Philippines Department of the Interior and Local Government Regional Office V

### REGIONAL OFFICE BIDS AND AWARDS COMMITTEE

### **NOTICE OF AWARD**

November 27, 2020

The Manager
MGM MEDICAL SUPPLIES AND GEN. MDSE.
Purok 3, Baranghawon, Tabaco City

### Dear Sir/Madam:

Please be informed that in connection with our Negotiated Procurement – Emergency Purchase Procurement dated November, 2020, you are found to be responsive by the Bids & Awards Committee (BAC).

You are hereby directed to deliver the following items based on the specification required within 7 working days upon receipt of this Notice of Award.

Description	Quantity	Unit pcs	Unit Cost 5.39	Amount
Vitamin C with Zinc 500mg	180,000			970,200.00
Oral Antiseptic 120ml	6,000	bottle	143	858,000.00
Note Pad (fitted to sling	3,000	pcs	28.1	84,300.00
Ballpen (Blue or Black)	3,000	pcs	7.75	23,250.00
Sling Bag (Color Blue, Gray Black) 9x4x11	3,000	pcs	225.25	677,250.00
TWO MILLION SIX HUNDRED THIRTEEN THOUSAND 00/100				2,613,000.00

Please acknowledge receipt and acceptance of this Notice by signing all copies. Retain one copy and return the other to the BAC Secretariat Office, DILG Regional Office V, Rizal Street Legazpi City.

Very Truly Yours

ATTY. ANTHONY C. NUYDA, CESO III

Regional Director

CONFORME:

By:

(Signature over Printed Name)

Date: DECEMBER 11, 2020

"Matino, Mahusay at Maaasahan"

Rizal St., Legazpi City
(052) 4801484; 4801486 (052) 4804023

region5dilg@gmail.com





# Republic of the Philippines Department of the Interior and Local Government Regional Office V

### REGIONAL OFFICE BIDS AND AWARDS COMMITTEE

## NOTICE TO PROCEED

November 27, 2020

The Manager
MGM MEDICAL SUPPLIES AND GEN. MDSE.
Purok 3, Baranghawon, Tabaco City

#### Dear Sir/Madam:

Please be informed that in connection with our Negotiated Procurement – Emergency Purchase Procurement dated November 3, 2020, you are found to be responsive by the Bids & Awards Committee (BAC).

You are hereby directed to deliver the following items based on the specification required within 7 working days upon receipt of this Notice of Award.

Description	Quantity	Unit	<b>Unit Cost</b>	Amount	
Vitamin C with Zinc 500mg	180,000	pcs	5.39	970,200.00	
Oral Antiseptic 120ml	6,000	bottle	143	858,000.00	
Note Pad (fitted to sling	3,000	pcs	28.10	84,300.00	
Ballpen (Blue or Black)	3,000	pcs	7.75	23,250.00	
Sling Bag (Color Blue, Gray Black) 9x4x11	3,000	pcs	225.75	677,250.00	
Two Million Six Hundred Thirteen Thousand and 00/100				2,613,000.00	

Please acknowledge receipt and acceptance of this Notice by signing all copies. Retain one copy and return the other to the BAC Secretariat Office, DILG Regional Office V, Rizal Street Legazpi City.

Very Truly Yours,

ATTY. ANTHONY C. NUYDA, CESO III

Regional Director

CONFORME:

By:

Zomes V. MARQUEZ

(Signature over Printed Name)

Date: <u>DALEMBER 14, 2020</u>

"Matino, Mahusay at Maaasahan"

Rizal St., Legazpi City

**(**052) 4801484; 4801486 (052) 4804023

http://region5.dilg.gov.ph

region5dilg@gmail.com

BAC RESOLUTION DECLARING MGM MEDICAL SUPPLIES AND GENERAL MERCHANDISE AS THE MOST QUALIFIED SUPPLIER AND HAS THE MOST ECONOMICAL OFFER AND QUALITY-ASSURED MEDICAL SUPPLIES / KIT FOR THE USE OF CONTRACT TRACERS AS PROTECTION FOR THE COVID-19 VIRUS

WHEREAS, on March 8, 2020, the President signed Proclamation No. 922 declaring a State of Public Health Emergency throughout the Philippines upon the recommendation of the Department Health (DOH) following the confirmed local transmission of the Coronavirus Disease 2019 (COVID-19);

WHEREAS, on September 11, 2020, the President signed RA No. 11494 or the Bayanihan to Recover as One Act (Bayanihan 2) in view of the unabated spread of the COVID-19 virus and the ensuing economic disruption therefrom. Section 4 (u) of Bayanihan 2 exempts specific procurement projects<sup>1</sup> related to the COVID-19 response from the coverage of RA No. 9184;

WHEREAS, with the approval of Bayanihan 2, the Department of the Interior and Local Government begins the hiring of contact tracers;

WHEREAS, due to the nature of work of the Contact Tracers that requires interaction to people who may have been exposed or infected with the COVID-19 virus, it necessarily need Personal Protective Equipment (PPE) like gloves, mask, face shield, alcohol, vitamins among others, to protect and shield them from the transmission of the virus;

WHEREAS, given the mandatory use of competitive procurement process as prescribed by RA 9184 is not practical to apply, due to the need of an immediate response to prevent damage or loss of life and that the contact tracers hired already started their fieldwork without PPEs, the DILG Region V resorted to Negotiated Procurement<sup>2</sup> (Emergency Cases) to facilitate the production of PPEs;

Negotiated Procurement (Emergency Cases) shall be allowed in the following instances:

<sup>&</sup>lt;sup>1</sup> (1) Goods, which may include PPE such as gloves, gowns, masks, goggles, and face shields; surgical equipment and supplies; laboratory equipment and its reagents; medical equipment and devices; support and maintenance for laboratory and medical equipment, surgical equipment and supplies; medical supplies, tools, and consumables such as alcohol, sanitizers, tissue, thermometers, hand soap, detergent, sodium hypochlorite, cleaning materials, povidone-iodine, common medicines (e.g., paracetamol tablet and suspension, mefenamic acid, vitamins tablet and suspension, hyoscine tablet and suspension, oral rehydration solution, and cetirizine tablet and suspension); testing kits, and such other supplies or equipment as may be determined by the DOH and other relevant government agencies: Provided, That the DOH shall prioritize the allocation and distribution of the aforesaid goods, supplies and other resources to the following:

<sup>(</sup>i) Public health facilities in the regions, provinces, or cities, that are designated as COVID-19 referral hospitals, such as, but not limited to, Philippine General Hospital (PGH), Lung Center of the Philippines (LCP), and Dr. Jose N. Rodriguez Memorial Hospital;

<sup>(</sup>ii) Private hospitals which have existing capacities to provide support care and treatment to COVID-19 patients; and

<sup>(</sup>iii) Public and private laboratories that have existing capacities to test suspected COVID-19 patients.

<sup>(2)</sup> Goods and services for social amelioration measures in favor of affected communities:

<sup>(3)</sup> Lease of real property or venue for use to house health workers or serve as quarantine centers, medical relief and aid distribution locations, or temporary medical facilities;

<sup>(4)</sup> Establishment, construction, and operation of temporary medical facilities;

<sup>(5)</sup> Utilities, telecommunications, and other critical services in relation to operation of quarantine centers, medical relief and aid distribution centers and temporary medical facilities; and

<sup>(6)</sup> Ancilliary services related to the foregoing

<sup>&</sup>lt;sup>2</sup> Negotiated Procurement (Emergency Cases) is an alternative mode of procurement where PEs directly procure from a legally, technically and financially capable supplier, distributor, manufacturer, contractor or consultant.

<sup>(</sup>a) in case of imminent danger to life or property during a state of calamity;

<sup>(</sup>b) when time is of the essence arising from natural or man-made calamities; or

<sup>(</sup>c) other causes where immediate action is necessary to prevent damage to or loss of life, property, or to restore, vital public services, infrastructure facilities and other public utilities.

The instances or situations where the foregoing conditions may be applied include the provision of immediate response and initial recovery steps to avoid loss of life, injury, disease and other negative effects on human, physical, mental and social well-being, together with dam\age to property, destruction of assts, loss of services, social and economic disruption and environment degradation (NPM No. 003-2020, GPPB)

WHEREAS, the BAC also asked for the price quotation and stock availability certification<sup>3</sup> to the Department of Budget and Management. However, the price is not advantageous as compared to other suppliers;

**WHEREAS**, the BAC, in its earnest effort to obtain the most advantageous price, has conducted market research and survey of prevailing prices of the goods from various online and local suppliers and distributors;

WHEREAS, a collation of quoted prices was obtained by the BAC thru preliminary requests for quotations of the items from reputable local suppliers and distributors are attached herein for references and marked as **Annex "B"**;

**WHEREAS**, in addition to economy and price advantageous offer, the BAC likewise considers not only the quantitative figures offered for the items but also the qualitative characteristics thru requests of samples;

WHEREAS, that upon the unanimous concurrence of the members of the BAC, and after considering the applicable requirements under Section 23 of the 2016 Revised Implementing Rules and Regulation of Republic Act 9184 and the most economical offer and quality-assured items, it declared *MGM Medical Supplies and General Merchandise* as the local supplier and/or distributor who satisfied the procurement requirements of DILG Regional Office No. V;

WHEREAS, remind the BAC Secretariat to comply with the additional posting requirements under RA No. 11494 or the Bayanihan2 for the procurement covered herein and publish the following information and documents in the GPPB Online Portal, the DILG Region V website and at the Bulletin Board reserved for this within seven (7) working days from the date of acceptance of the award:

- a. Project name;
- b. Approved Budget for the Contract;
- c. Contract period;
- d. Name of winning bidder;
- e. Amount of contract as awarded;
- f. Notice of award (NOA);
- g. Date of award and acceptance;
- h. Contract or purchase order; and
- i. A certification stating that the PE exerted all efforts to secure the most advantageous price to the government based on existing price data of the agency, the DTI or other relevant agencies or preliminary market scanning done by the agency showing prevailing market prices and practice;

NOW, THEREFORE, for and in consideration of the foregoing, WE, the Members of Bids and Awards Committee, by virtue of the powers vested on US, by law and other executive issuances, hereby RESOLVE, to confirm, adopt, and approve, as WE, hereby confirm, adopt, and approve the following:

**ADOPT** the Negotiated Procurement (Emergency Cases) given that the mandatory use of competitive procurement process as prescribed by RA 9184 is not practical to apply, due to the need for an immediate response to prevent damage or loss of life and that the contact tracers hired already started their fieldwork without PPEs;

**CONFIRM** the existence and veracity of the grounds relied upon in the adoption of Negotiated Procurement;

APPROVE upon the unanimous concurrence of the members of the BAC, and after considering the applicable requirements under Section 23 of the 2016 Revised Implementing Rules and Regulation of Republic Act 9184 and the most economical offer and quality-assured items, that MGM Medical Supplies and General

<sup>&</sup>lt;sup>3</sup> Annex "A", Quotation and Stock availability Certification from the DBM.

**Merchandise** as the local supplier of the DILG Region V for the supplies of PPEs to Contact Tracers;

**REMIND** the BAC Secretariat to comply with the additional posting requirements under RA No. 11494 or the Bayanihan2 for the procurement covered herein and publish the following information and documents in the GPPB Online Portal, the DILG Region V website and at the Bulletin Board reserved for this within seven (7) working days from the date of acceptance of the award:

- a. Project name;
- b. Approved Budget for the Contract;
- c. Contract period;
- d. Name of winning bidder;
- e. Amount of contract as awarded;
- f. Notice of award (NOA);
- g. Date of award and acceptance;
- h. Contract or purchase order; and
- i. A certification stating that the PE exerted all efforts to secure the most advantageous price to the government based on existing price data of the agency, the DTI or other relevant agencies or preliminary market scanning done by the agency showing prevailing market prices and practice;

**RESOLVED FURTHER**, that the rules on the conduct of procurement activities covered under this BAC Resolution shall be in effect on this specific procurement activity only.

Issued this 3<sup>rd</sup> day of November 2020 pursuant to the aforementioned BAC Resolution No.

Narcisa Claveror TWG, Goods

Provisional Member Goods

Antonio Pasano Alternate Member

Susan Emce Santiago

Regular Member

Alfredo Sallan Chairman

Approved:

Atty. Anthony C. Nuyda, CESO III

Regional Director



### epublic of the Philippines Department of the Interior and Local Government

Regional Office No. V, Rizal Street, Legazpi City

Amount:

17.	WHE OF THE VAILUE	PURCHASE OF	RDER	-Ando	14140	
Address : TIN :	ddress: Pirok 3, Baranghawon, Tabaco City N: 142-918-698-000		Date :	2020-143 CANATO November 27, ement : Emergen	2020	
		o Office the following articles subject to the OICAL SUPPLIES FOR USE OF THE CONTRACT				
Place of Delivery : DILG Regional Office V Date of Delivery :			Delivery Term 7 CD after receipt of P. O. Payment Term: As Billed			
Stock/ Property No.	Unit	Description	Quantity	Unit Cost	Amount	
		First Aid Kit			-	
	рс	Vit. C with Zinc 500mg	180,000	5.39	970,200.00	
	bottle	Oral Antiseptic (120ml)	6,000	143.00	858,000.00	
	pcs	Note Pad (fitted to sling)	3,000	28.10	84,300.00	
	pcs	Ballpen (blue or black)	3,000	7.75	23,250.00	
	pcs	sling bag	3,000	225.75	677,250.00	
		color blue, gray, blue				
		(9x4x11)				
(Total Amount	in Words)	TWO MILLION SIX HUNDRED THIRTEEN	I THOUSAND PES	OS ONLY	2,613,000.00	
percent for e	every day	o make the full delivery within the time spo of delay shall be imposed on the undelive	ered item/s.	1	e-tenth (1/10) of one	
Conforme:			Very truly yours,			
Signature over Printed Name of Supplier			REGIONAL DIRECTOR			
	_D:	Date		V		
Fund Cluster Funds Availa		on on one of the original of t	ORS/BURS No Date of the			

COREE MODESSA F. BADONG ACCOUNTANT III